* % %

Puzzling Times Loop Cards

8075
START

Blackberry bushes cost
£10.95 each. Thereis a
special offer that if you
buy three, they cost £25.
How much money do you
save through this offer?

£7.85

193 938 people are at a
football match. 165 869
are spectators; the rest
are people who work at
the football ground. How
many people work at the
football ground?

28 069

I buy 4 CDs costing £6.99
each. How much change
do I get from £50?

£22.04

I think of a number, add
142 then subtract 203.
My answer is 36. What is
my number?

»

m planit

visit twinkl.com

Maths| Year 5| Addition and Subtraction | Solving Problems | Lesson 2 of 3: An Inspector Calls




* % %

A moving company is hired to
take 312 clay pots to an Art shop.
The florist will pay the moving
company a £200 fee, plus £1 for
every pot that is delivered safely.
The moving company must pay

Mrs Coleridge bought a
2kg bag of modelling clay
to use in an art lesson.

recording at 49 394
seconds. How much of the
film is missing?

97 the florist £5 each for any pots £476 The first group to use
that are lost or broken. If two pots the clay used 743g. How
are lost, four pots are broken, and much clay was left in the
the rest are delivered ;afelg, how bag for the other groups?
much should the moving company
be paid after they have paid for
damages?

I record a film that 15 639 people attended
a football match. The
lasts 213 403 seconds. .
However, it stops previous week 7564
1257 ’ 164 009 people attended a match.

What is the difference in
attendance ﬁgures for the
two weeks?
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